‘ojesede

19p 34nyous 19 Jeoes ‘uoloeledal A ojuatwiuajuew ap sofeqes] o) Jewtul ap sajuy X314 sojeutbuo
sojsandas sjuswedtun teajdwy “ouensn 19 eled sajqesapisuod soibrad aibins ueupod 3931109

-ut ugLoeiedas eun ap anbiod ‘(¥ HgA B SWI04U0D) PepLOLII]S LB opezledadss jeuosiad Jod sjusw
-eoun ‘ordpuud sod ‘sopesedal 1as ap ueigey s03U3I318 sojesede so) anb e3UINI UB JoUS] ASBAILS
uowesedas A ojusLwiuajuey

‘uotjesedal ap 39 SdUBUSJULEW P XNBARI} S3P INGIP 3] JueAR S)iasedde;) Jayduelq

-9@ -outbuo,p x374 abueydal ap se231d sap anb oSN\ “Ind3esijin,) inod sa)qelapisuod senbsu sp
324n0s ©] 2133 Justennod s33091100uL suoljeseds sap Jed (¥ 9gA JuaWs)H. Ne JusWIWI0U0D) SAL
-fjenb suaL33)2 sap sed anb sguedas 2139 JusALop au sanbuid)? s)iasedde sa anb ssygno sed ay
uorjesedal 39 dueudjuLey

bmd

-sutew ay3 1nd asea)d Bupjiom-itedai-pue-adialas Jo butuuibaq ay3 alojeg “sued aseds x374 jeutbuo
asn AjuQ “1asn ay3 1oy Jabuep 2)qeIapLsuOd UL Nsas ued sitedas 3931100uL se ‘(¥ 9gA 03 bulpiodde)
1ouu0ssad 1eau1d3)d pazijerdads Aq paitedal aq Auo pinoys juswdinbs 1edu3I3)8 Jeyl 3A19SqO 35eaYd
dredal pue 91135

*UBYBLZ S33RI90 SAP JoXI33SZIaN Usltaqieinieled

-9y pun -sbunyiep 48p uutbag 10 “USPUSMIBA 3]133ZIeSIT-XT T4 TeulbuQ NN “usuuQy usyIISIUD I3Z
-anuag usp Jny usbunpiyesag aydLgayse uainjeseday agewabydesun younp ep ‘(¥ 9gA ydeu) uapunp
uspiam paLedal SLEAYIBI0IPR]T YdUNp Anu yoyziespunib a3e1aboiie13 ssep ‘als usydesq anig
injeseday pun Bunuep

c09¢ ¥

soj}sandal ap ejsi

abueydai ap sa391d sap IS
3s1) sued asedg
9)sly]telziesiy

39NIZNPIMOYINTTS

"ual|RyaqI0A LABUNIAPUY BYISWLDAL HURMIY UL IBYIPMG Ing

45

Teile-Nr. 289.949 Printed in Germany 07/07

R 2602




R 2602

DIN Abmessung Pos Teile-Nr. St Benennung Designation Dénomination Dénominacion
Norm mm
Ersatzteile Spare parts Piéces de rechange Repuestos
2 149.144 1 Kabel (CEE) Cable (CEE) Cable (CEE) Cable (CEE)
2 204.609 1 Kabel (SEV) Cable (SEV) Cable (SEV) Cable (SEV)
4 179.302 1 Ritzel Pinion Pignon Pinion
5 189.804 1 Motorgehause mit Kohlehalter Motor housing with carbon brusch Carter de moteur avec porte Carcasa motor con porta escobill:
holder charbon
6 120.391 1 Dichtbuchse Sealing bushing Douille d"étanchéité Casquillo de empaquetadura
7 170.909 1 Anker Armature Induit Inducido
8 190.888 1 Magnetfeld Magnetic field Champ magnétique Campo magnético
10 289.930 1 Distanzbuchse Distance piece Doille entretoise Casquillo de empaquetadura
472 1,75x40 1" 114.456 1 Sicherungsring Locking ring Bague d’arrét Anillo de seguridad
625  17x40x12 12 107.840 1 Kugellager Ball bearing Roulement a billes Rodamiento de bolas
17x40x12 13 107.700 1 Dichtring Sealing ring Bague d'étanchéité Anillo de empaquetadura
21x36x5 14 112.321 1 Dichtring Sealing ring Bague d'étanchéité Anillo de empaquetadura
7984 M4x12 22 149.136 2  Schraube Screw Vis Tornillo
912 M 5x16 23 105.872 4  Schraube Screw Vis Tornillo
KT 5x30 32 200.336 4  Schraube Screw Vis Tornillo
625 12x28x8 34 259.148 1 Rillenkugellager 6001 2 RSD Ball bearing 6001 2 RSD Roulement a billes 6001 2 RSD Rodamiento de bolas 6001 2 RSI
35 116.815 1  Kabelschelle Cable clamp Cosse de cable Abrazadera de cable
36 117.641 1 Dichtring 6003 JV Sealing ring 6003 JV Bague d'étanchéité 6003 JV Anillo de empaquetadura 6003 J\
625 16x35x11 37 259.147 1 Rillenkugellager 6202 2 RSD Ball bearing 6202 2 RSD Roulement a billes 6202 2 RSD Rodamiento de bolas 6202 2 RSI[
39 171913 1 Getriebegehause Gear housing Carte de engrenage Carcasa de engranajes
40 203.955 1  Dichtplatte Sealing plate Plaque d’étanchéitré Plancha
41 200.298 1 Lagerring Bearing ring Bague Anillo
42 120.030 2  Kohlenhalter Carbon brush holder Porte charbon Porta escobilla
43 334.995 2  Kohlenhalterkappe Carbon brush holder cap Capuchon de porte charbon tapa porta escobilla
912  Mb5x25 44 120.855 3  Schraube Screw Vis Tornillo
912 M 5x86,5 45 120.979 2 Schraube Screw Vis Tornillo
46 120.081 1 Kabelschutzschlauch Rubber sleeve Manchon de caoutchouc Manguito de goma
47 191.930 1 Windflugel Fan Ventilateur Ventilador
48 120.839 1 Luftfahrung Air deflection Guide d'air Guia de aire
6x16 49 264563 2  Kohle K 52 Carbon brush K 562 Charbon K 52 Escobilla K 52
0,2 50 272.493 1 Distanzring Distance ring Bagie entretoise Anillo distanciador
80x2,5 51 120.197 1 Dichtring Sealing ring Bague d'étanchéité Anillo de empaquetadura
54 389.951 1 Getriebewelle montiert Gear shaft assy Arbre d'engrenage monter Eje de engranajes montaje
625 12x32x10 55 107.832 1 Rillenkugellager 6201 2Z Ball bearing 6201 RS Roulement a billes 6201 RS Rodamiento de bolas 6201 RS
471 12x1 57 102.091 1 Sicherungsring Locking ring Bague d’arrét Anillo de seguridad
59 117.633 1 Lagerdeckel Bearing cap Chapeau de palier Tapa del cojinete
61 120.502 1 Handgriff Handle Poignée latérale Asidero lateral
62 164.143 1 Schalter Switch Interrupteur interruptor
965 M 5x16 63 121.398 2 Schraube Screw Vis Tornillo
66 183.261 1 Kondensator Condense Condensateur Condensador
81 111.864 1 Schraube Screw Vis Tornillo
255.691 70 g Getriebefett Gear lubricant Graisse pour engrenajes Grasa para engranajes
Grundausstattung Standard components Equipement de base Equipo basico
93 193.356 1 Handgriff Handle Poignée latérale Asidero lateral
894 SW 22 109.398 1 Einmaulschlussel Fork spanner Clé fourche Llave de dos bocas

FLEX-Elektrowerkzeuge GmbH
Bahnhofstr. 15

71711 Steinheim/Murr

Tel. +49 (0) 7144 828-0
Fax +49 (0) 7144 25899

info@flex-tools.com
www.flex-tools.com

Nur fiir Reparaturwerkstdtten und Elektrofachkrafte.
Only for specialized electrical personnel and repair-shops.
Uniquement pour les ateliers de réparation et les électriciens qualifiés.

Solo para talleresde reparacion y electricistas.



